0246
TS

of Questions — 8 Regd.

0. of Printed Pages — 2 No.

Part — 111 ;
ENGLISH, Paper — 11
(Modern Language)

Answer all the questions.

%)
X
]
]
——
n

otate with reference to the context any three of the following :

......... ten hours
of steady rain had driven him
to crawl beneath a sack of rice.

You should have done that: |1
too have lost half the rite.

[ am a part of all that I have met:

For in everything he did he served the
Greater Community.

Let those who go home tell the same story of you;
of action with a common purpose.

wer any three of the following : ; X S8
How did the prisoner tinally react to his solitary contfinement ?
Why di‘d Gandhi quit his classes in music and dance ?
Portray the scene of the tea-party.
What tribute does the author pay to the smile of Harry Lauder ?

Write a paragraph about the woman’s excitement as she gazes at the artist’s
pictures. '

How does Synge provide a convincing reason tfor Maurya to go out while her
two daughters examine the clothes ?
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Answer any one of the following 1x10=
Explain tl

-

(a) “Every country is home to one man and exile to another.
statement.

(b)  How does the poet convey the message of tradition in the poem “Rakhi™ ?

Answer any one of the following : 1x10
(a)  Explain the philosophy of life upheld in the poem “Ulysses™.
(b) Does the dialogue form help the poet convey his experience eftectively 1

“Telephone Conversation™ ? Comment.

Answer any one of the following : 1x10

(a) “The Bet™ is a study in human behaviour. Discuss. ' p

(b)  “Mr. Perceval’s sense of humour prevailed and saved the situation.™ Explain.

Answer any one of the following : : 1x10

(a) How does A.G. Gardiner drive home the point that a smile is a quality whi
brings popularity ? :

(b)  Show how the play depicts the dramatic excitement of the spectacle of man
conflict with fate in “*Riders to the Sea™.

Answer any one of the following : 1 x10
(a) “Julius Caesar™ as a tragedy of reflection.

(b)  Responsibility of Brutus for the failure of the conspiracy. Explain.

Write short notes on any four of the following : 4 x5
(a) Roman niob

(b)  Antony’s speech

(¢) Caesar’s ghost

(d) Murder scene

(e) Role of Cassius

()  Storm scene

(g) Contrast between Portia and C alpurnia

(h) Ides of March




